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QUESTION 1

Identify three entities that must be set up in Oracle Manufacturing Cloud to create a Work Definition for an item that will
be manufactured in-house. 

A. Operation Items 

B. Resources 

C. Production Line 

D. Operations 

E. Manufacturing Lead Time 

Correct Answer: ABD 

 

QUESTION 2

One of the key execution capabilities that Oracle Manufacturing Cloud offers is that you can generate and 

manage work order exceptions. 

Which option shows the production exception types that can be reported by the production operator? 

A. Work Area, Work Center, and Resources 

B. Work Center and Resources 

C. Resources and Components 

D. Work Area, Work Center, Resources, and Components 

E. Work Area, Work Center, Resources, Components, and Miscellaneous 

Correct Answer: C 

 

 

QUESTION 3

The Plant Manager informs you that they have bought several machines for their manufacturing plant ABC. The plant
has been set up with a separate cost element set ABC in Manufacturing Cloud. You are requested to configure these
machines in such a way that those are costed to the work order for which operations are performed on these machines.
Identify the correct setup that you will advise to the Plant Manager. 

A. Set up the machines as cost element type of "Resource" by selecting Cost Element set ABC. 

B. Set up the machines as cost element type of "Overhead" by selecting Cost Element set ABC. 

C. Set up the machines as cost element type of "Overhead" by selecting Cost Element set Common. 
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D. Set up the machines as cost element type of "Resource" by selecting Cost Element set Common. 

Correct Answer: D 

 

 

QUESTION 4

You can generate and manage work order exceptions in Oracle Manufacturing Cloud. Which users can report
production exception and who gets notified after an exception is raised? 

A. The Production Operator can report and exception and the application generates a notification that is 

sent to all users who have access to the manufacturing plant. 

B. The Production Operator can report an exception and the application generates a notification that is sent to all users
with the role of production supervisor who have access to the manufacturing plant. 

C. The Production Operator or Manufacturing Engineer can report an exception and notifies the production supervisor
using Oracle Social Network since there is no system generated notification. 

D. The Production Operator can report an exception and notifies the production supervisor using Oracle Social Network
since there is no system-generated notification. 

Correct Answer: B 

 

QUESTION 5

During a Manufacturing Cloud implementation, the customer request to develop Oracle Transactional 

Business Intelligence reports that are not available out-of- the box. 

Identify the tool that is available to the Report Developer in Manufacturing Cloud to develop the reports. 

A. Oracle Business Intelligence Standard Edition 

B. Oracle Business Intelligence Publisher 

C. Oracle Business Intelligence Enterprise Edition 

D. Oracle Business Intelligence Application 

Correct Answer: B 
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